LOS ANGELES AREA	CERT	IFICATE	OF ORI	GIN ORIGINAL	
CHAMBER OF COMMERCE	TO VALIDATE, VERIFY.FTC		LA-COO-55	675-6772df08a25a0	
Seller (Exporter) Automatic Filters, LLC 2672 South La Cienega Boulevard	Transport Type Air			Port of Loading Los Angeles	
Los Angeles California 90034 United States	Destination C Qatar	ountry	Destination P Doha	Port	
Consignee	Export Date		Exporting Car **********	rrier	
Sapir Trading & Contracting Co. W.L.L. Office No: 12, First Floor, Old Karwa Building, Al Mansoura, Doha	Import Permit	Number	Bill of Lading	/ AWB	
Qatar	Owner or Age		Forwarding A Expeditors	gent	
Buyer (Importer) Remarks 1 crate @ 717 (lb) dims: 84"x42"x34" 1 crate @ 674 (lb) dims: 84"x42"x34" Consignor reference: PO#STC/GTD/2914/23					
Description (May include notes on Quantity, Item Number, Marks and Numbers,	Kind of Package	s.)	Weight	Country of Origin	
21-1.5-B (21-6L) Bearing Male x 10PC			0.02 lb	United States	
H.S.Code: 8482.50.0000 3-6LP-B (3-6L) Coarse Screen x 8PC H.S.Code: 8421.21.0000 2-ABW-12.75-B (2-6) cover x 2PC			Net: 0.01 lb		
3-6LP-B (3-6L) Coarse Screen x 8PC H.S.Code: 8421.21.0000	Co.		5 lb Net: 4 lb	United States	
2-ABW-12.75-B (2-6) cover x 2PC	34		35 lb	United States	
H.S.Code: 4016.93.0000	- P		Net: 34 lb		
24-HW-01 (24-6L) Cover Bolt x 10PC	m		0.12 lb	United States	
H.S.Code: 4016.93.0000 CERTIFICATE OF O	RIGIN		Net: 0.12 lb		
20-HW-01 (20-6L) Cover Nut + Washer x 6PC Chamber U H.S.Code: 4016.93.0000			0.39 lb Net: 0.38 lb	United States	
10-12.75-J (10-6L) Cover Seal x 25PC H.S.Code: 8406.93.0000			0.3 lb Net: 0.2 lb	United States	
34-MUR Differential Pressure Switch x 6PC H.S.Code: 8536.50.70000	ATIO		0.66 lb Net: 0.65 lb	United States	
Name of Authorized Trade Association	 The above-mentioned goods origit origin applicable in the country(les; The information in this certificate Commerce ("LAACC") is accurate, t The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha The Applicant will maintain, and pit truth, accuracy and completeness In consideration for the LAACC" is 	nate in the country(ies) special to those goods. and in any documents provide rue and complete. e LAACC and any other persos ate is provided to with the knc nge in such information, or in resent upon request, such doc of this certificate and accomp suance of this Certificate, the pility in connection with the is or claims made against LAA	cumentation as is necessary to verify the panying documents. e Applicant agrees to release, discharge and suance of this certificate and to indemnify CC in connection herewith.		

LOS ANGELES AREA	CERTIFI	CATE C	FOR	GIN ORIGINAL	
CHAMBER OF COMMERCE	TO VALIDATE, GO TO VERIFY.FTGS.US		A-COO-55	675-6772df08a25a0	
Seller (Exporter) Automatic Filters, LLC 2672 South La Cienega Boulevard	Transport Type Air			Port of Loading Los Angeles	
Los Angeles California 90034 United States	Destination Country Qatar		Destination F Doha	Port	
Consignee	Export Date		Exporting Ca		
Sapir Trading & Contracting Co. W.L.L. Office No: 12, First Floor, Old Karwa Building, Al Mansoura, Doha Qatar	Import Permit Numbe	r	Bill of Lading	Į/AWB	
	Owner or Agent		Forwarding A Expeditors	Agent	
Buyer (Importer) Remarks 1 crate @ 717 (lb) dims: 84"x42"x34" 1 crate @ 674 (lb) dims: 84"x42"x34" Consignor reference: PO#STC/GTD/2914/23			W23		
Description (May include notes on Quantity, Item Number, Marks and Numbers,	Kind of Packages.)		Weight	Country of Origin	
6 8 35 KIT (6 6L) Collector Fine x 6PC	<u> </u>		lb et: 0.50 lb	United States	
H.S.Code: 8421.99.0140 5-5.0-B (5-6L) Dirt Collector Ass x 6PC H.S.Code: 8421.99.0140 4S-5.0-B (4S-6L) Sintered Screen (4S-6L) x 6PC	COM	1:	2 lb et: 11 lb	United States	
H.S.Code: 8421.21.0000	MERCE	N	6 lb et: 25 lb	United States	
8-1.5-EBV-A1 (8-1.5-EBV) Flush Valve Ass 1.5" x 4PC H.S.Code: 8501.40.6040 CERTIFICATE OF O		N	4 lb et: 13 lb	United States	
8-2-EBV-A1 (8-2-EBV) Flush Valve Ass. 2" x 4PC amber U H.S.Code: 8501.40.6040			4 lb et: 13 lb	United States	
7-5.0-B (7-6L) Hydraulic Motor x 6PC H.S.Code: 8412.21.0075	A		16 lb et: 1.13 lb	United States	
22-1.5-01-B (22-6L) Hydraulic Piston 1.5 x 6PC H.S.Code: 8412.21.0075	ATT	1	0 lb et: 9 lb	United States	
Accredited Ch	AMBER of Country of the abo origin apy -The info Commercial of any ina- -The App Certificat of any ina- -The App Certificat of any ina- -The App Certificat of any ina- -The App Certificat	we-mentioned goods originate plicable in the country(ies) to t rmation in this certificate and ce ("LAACC") is accurate, true a licant undertakes to advise LA e (or to whom the Certificate i accuracy, omission or change licant will maintain, and prese curacy and completeness of th deration for the LAACC's issua	in the country(ies) speci hose goods. in any documents provid and complete. ACC and any other perso s provided to with the kin in such information, or in it upon request, such do is certificate and accom mce of this Certificate, th in connection with the is laims made against LAA	cumentation as is necessary to verify the panying documents. e Applicant agrees to release, discharge and suance of this certificate and to indemnify CC in connection herewith.	

LOS ANGELES AREA	CERI	IFICATE	OF ORI	GIN ORIGINAL	
CHAMBER OF COMMERCE	TO VALIDATE	, GO TO Certificate Number : GS.US Date :	LA-COO-55 December 30, 202	675-6772df08a25a0	
Seller (Exporter) Automatic Filters, LLC 2672 South La Cienega Boulevard	Transport Typ Air	De		Port of Loading Los Angeles	
Los Angeles California 90034 United States	Destination C Qatar	Sountry	Destination Doha	Port	
Consignee	Export Date	*	Exporting Ca		
Sapir Trading & Contracting Co. W.L.L. Office No: 12, First Floor, Old Karwa Building, Al Mansoura, Doha Qatar	Import Permi		Bill of Ladin	g / AWB *	
Galai	Owner or Age		Forwarding Expeditors	Agent	
Buyer (Importer)	Remarks 1 crate @ 71 1 crate @ 67	17 (lb) dims: 84"x42"x34" 74 (lb) dims: 84"x42"x34"			
	Consignor re	eference: PO#STC/GTD/29	14/23		
Description (May include notes on Quantity, Item Number, Marks and Numbers,	Kind of Package	s.)	Weight	Country of Origin	
12-ABW-01-E (12-6L) Lower Bearing x 10PC			0.27 lb	United States	
H.S.Code: 8482.50.0000 18-025-GRAY (18-1/8) Mini Filters x 6 PC			Net: 0.26 lb		
	Co		0.086 lb	United States	
H.S.Code: 8421.21.0000	14		Net: 0.085 lb		
29-ABW-J (29-ABW) Piston Repair Kit 1.5 x 6PC H.S.Code: 8421.99.0140	Ep		1 lb Net: 0.50 lb	United States	
GB6-220V-10- (GB6) x 3PC	m		5 lb	United States	
H.S.Code: 8535.10.9090 CERTIFICATE OF C	RIGIN		Net: 4lb		
25-ABW-SET (25-6L) Fittings Set x 10PC ed Chamber		PLACEROXX	1 lb	United States	
H.S.Code: 4016.93.0000			Net: 0.50 lb		
1-ABW6-LP-B (1-6L) Filter Housing SST316L x 2PC			290 lb	United States	
H.S.Code: 8421.99.0140	4		Net: 250 lb		
11-ABW-01-E (11-6L) Upper Bearing x 10PC	AT		0.09 lb United States		
H.S.Code: 8421.99.0140 11-ABW-01-E (11-6L) Upper Bearing x 10PC H.S.Code: 8482.50.0000			Net: 0.08 lb		
Accredited Ch	AMBER OF COMMENT	 The above-mentioned goods origin origin applicable in the country(ies) The information in this certificate a Commerce ("LAACC") is accurate, tri The Applicant undertakes to advise Certificate (or to whom the Certifica of any inaccuracy, omission or chan The Applicant will maintain, and pre truth, accuracy and completeness o In consideration for the LAACC's iss 	ate in the country(ies) spec to those goods. In any documents proving and complete. LAACC and any other pers te is provided to with the king e in such information, or i resent upon request, such di this certificate and accon suance of this Certificate, the lity in connection with the i or claims made against LA	ocumentation as is necessary to verify the ppanying documents. ne Applicant agrees to release, discharge and ssuance of this certificate and to indemnify ACC in connection herewith.	

LOS ANGELES AREA	CERI	IFICATE	OF ORIO	GIN ORIGINAL	
CHAMBER OF COMMERCE	TO VALIDATE, VERIFY.FT(, GO TO Certificate Number SS.US Date	LA-COO-556	675-6772df08a25a0	
Seller (Exporter) Automatic Filters, LLC 2672 South La Cienega Boulevard			Los Angeles		
Los Angeles California 90034 United States	Destination C Qatar	ountry	Destination P Doha		
Consignee Sapir Trading & Contracting Co. W.L.L.	Export Date	•	Exporting Car ************	rier	
Office No: 12, First Floor, Old Karwa Building, Al Mansoura, Doha	Import Permi	t Number *	Bill of Lading	/ AWB	
Qatar	Owner or Age		Forwarding Age Expeditors	gent	
Buyer (Importer)	1 crate @ 67	7 (lb) dims: 84"x42"x34" '4 (lb) dims: 84"x42"x34"			
	Consignor re	ference: PO#STC/GTD/2	914/23		
Description (May include notes on Quantity, Item Number, Marks and Numbers, I	Kind of Package	s)	Weight	Country of Origin	
16-8.35-J (16-6L) Upper/Lower Oring x 25 PC			0.068 lb	United States	
H.S.Code: 4016.93.0000			Net: 0.067 lb		
End of products					
Name of Authorized Trade Association	 The above-mentioned goods origin origin applicable in the country(ies). The information in this certificate a Commerce ("LAACC") is accurate, the The Applicant undertakes to advisin Certificate (or to whom the Certificate of any inaccuracy, omission or chail The Applicant will maintain, and pri truth, accuracy and completeness of Inconsideration for the LAACC's is 	nate in the country(ies) specifi of those goods. and in any documents provide rue and complete. e LAACC and any other person ate is provided to with the kno nge in such information, or in t resent upon request, such doc of this certificate and accomp- issuance of this Certificate, the oility in connection with the iss or claims made against LAAC	umentation as is necessary to verify the anying documents. Applicant agrees to release, discharge and uance of this certificate and to indemnify C in connection herewith.		



Invoice

Order No.: Order Date: Est. Shipping Date: Customer ID: Currency: For: AR035119 11/7/2024 12/30/2024 C000001421 USD Saji Abraham

FOR:	SHIP TO:	BILL TO:
Sapir Trading & Contracting Co. W.L.L	Sapir Trading & Contracting Co. W.L.L	Sapir Trading & Contracting Co. W.L.L PO
PO Box 32042	Office No: 12, First Floor,	Office No: 12, First Floor,
Doha	Old Karwa Building,	Old Karwa Building,
Qatar	Al Mansoura, Doha Qatar	Al Mansoura, Doha Qatar

Project Reference Number:

CUST	OMER P.O. NO.	TERMS CO	ONTACT		
STC/0	GTD/04065/24	Wire Transfer sa	les@sapirgtd.com		
SHIP	PING TERMS	SHIP VIA			
DAP		Air			
NO.	ITEM	DESCRIPTION	QTY. UOM	PRICE	EXTENDED PRICE
1	21-1.5-B	Male Bearing/bushing (21-6L) HS Code: 8482.50.0000	10.00 EACH	74.80	748.00
2	3-6LP-B	Coarse Screen for 6-LP Filter Housings, 8.52" ID x 13.20" Length - SST316L (3-6L) HS code: 8421210000	8.00 EACH	654.50	5,236.00
3	2-ABW-12.75-A	Cover for ABW6-LP (2-6L) HS Code: 4016.93.000	2.00 EACH	841.50	1,683.00
4	24-HW-01	Cover Bolt (24-6L) HS Code: 4016.93.0000	10.00 EACH	37.40	374.00
5	20-HW-01	Cover Nut + Washer for ABW/LPF Series.(20-6L) HS Code 4016.93.0000	6.00 EACH	14.96	89.76
6	10-12.75-J	Cover Seal - Please make sure to install the wide side of the U Channel seal facing the filter (10-6L) HS Code: 4016.93.0000	25.00 EACH	46.75	1,168.75
7	34-MUR	Differential Pressure Gauge with Bracket & Fittings & Connections, Murcal kit. (Complete) HS Code: 8536.50.700	6.00 EACH	382.50	2,295.00
8	6-8.35-KIT	Collector Fins (Clamp Type) (6-6L) HS Code: 8421990140	6.00 EACH	46.75	8,807.70
9	5-5.0-B	Dirt Collector Assembly includes 5 nozzles Pin (5-6L) HS Code: 8421.99.0140	6.00 EACH	1,467.95	280.50
10	4S-5.0-B	Sintered Screen assembly for 5.0 SQFT for ABW6-LP200 m (4S-6L) HS Code: 8421.21.0000	icron 6.00 EACH	2,748.90	16,493.40
11	8-1.5-EBV-A1	Valve - 1.5" Electic Ball Valve, 24VAC (8-1.5-EBV) HS Code 8501.40.6040	2: 4.00 EACH	935.00	3,740.00
12	8-2-EBV-A1	Valve - 2" Electric Ball Valve, 24VAC in SST 316L (8-2-EBV HS Code: 8501.40.6040) 2.00 EACH	1,181.50	2,363.00





Invoice

Order No.: Order Date: Est. Shipping Date: Customer ID: Currency: For: AR035119 11/7/2024 12/30/24 C000001421 USD Saji Abraham

FOR:	SHIP TO:	BILL TO:
Sapir Trading	Sapir Trading & Contracting Co. W.L.L.	Sapir Trading & Contracting Co. W.L.L.
PO Box 32042	Office No: 12, First Floor,	Office No: 12, First Floor,
Doha	Old Karwa Building,	Old Karwa Building,
Qatar	Al Mansoura, Doha Qatar	Al Mansoura, Doha Qatar

Project Reference Number:

CUST	OMER P.O. NO.	TERMS	CONTACT		
STC/G	GTD/04065/24	Due Upon Receipt	sales@sapirgtd.com		
SHIPF	PING TERMS	SHIP VIA			
DAP		Best Way			
NO.	ITEM	DESCRIPTION	QTY. UOM	PRICE	EXTENDED PRICE
13	7-5.0-B	Hydraulic Motor (7-6L) HS Code: 8412.21.0075	6.00 EACH	439.45	2,636.70
14	22-1.5-01-B	Hydraulic Piston (1.5") (22-6L) HS Code: 8412.21.0075	6.00 EACH	906.95	5,441.70
15	12-ABW-01-E	Lower Bearing (12-6L) HS Code: 8482.50.0000	10.00 EACH	149.60	1,496.00
16	18-0.25-GRAY	Mini Filter - Plastic Grey, 100u, 6mm (18-1/8) HS Code: 8421.21.0000	6.00 EACH	18.70	112.20
17	29-ABW-J	Piston Repair Kit, BUNA - for 1.5" piston for all ABW serie ABW) HS Code: 8421.99.0140	s (29- 6.00 EACH	93.50	561.00
18	GB6-220V-10	Electronic Backwash Controller in weather proof NEMA3 Rinsing by differential pressure, timer, or manual. Backwa counter and emergency alarm. 220VAC 10 amp, output 24VAC,12"x9"x7", 6# (GB6) HS Code: 8535.10.9090		906.95	2,720.85
19	25-ABW-SET	Complete set of fittings and tubing for ABW FILTERS Fitti kit: HS Code: 4016.93.0000 1/4" tube to 1/4" NPT (white with blue valve) x 3 1/4" tube to 1/8" NPT (white piston fitting) x 1 1/4" NPT (blue plug) x 2 1/4" poly tubing (~15 feet)	ngs 10.00 EACH	187.00	1,870.00
20	1-ABW6-LP-B	ABW6-LP Housing ONLY, SST316L (1-6L) HS Code: 8421.99.0140	2.00 EACH	6,715.00	13,430.00
21	11-ABW-01-E	Upper Bearing (11-6L) HS Code: 8482.50.0000	10.00 EACH	74.80	748.00
22	16-8.35-J	Upper/Lower Oring (16-6L) HS Code: 4016.93.0000	25.00 EACH	32.73	818.12





Invoice

Order No.: AR035119 Order Date: 11/7/2024 Est. Shipping Date: 12/30/24 C000001421 **Customer ID:** Currency: Saji Abraham For:

USD

FOR:	SHIP TO:	BILL TO:
Sapir Trading & Contracting Co. W.L.L. PO Box 32042	Sapir Trading & Contracting Co. W.L.L Office No: 12.	Sapir Trading & Contracting Co. W.L.L. PO Box 32042 Doha
Doha	First Floor, Old Karwa Building,	Qatar
Qatar	Al Mansoura, Doha	Attn: Saji Abraham

Project Reference Number:

Spare Parts for ABW6-LP (ref 80256)

CUSTO	MER P.O. NO.	TERMS	CONTACT	
STC/G	FD/04065/24	Due Upon Receipt	sales@sapirgtd.com	
SHIPPI	NG TERMS	SHIP VIA		
DAP		Air		
NO.	ITEM	DESCRIPTION	QTY. UOM PRICE	EXTENDED PRICE
23	SE02	Air Freight Charges in US\$	1.00 CRATE 2,785.32	2,785.32

Wiring Instructions: Account Name: AUTOMATIC FILTERS, LLC Account #: 325180686566 Swift Code: o BOFAUS6S Bank of America, NA 555 California St San Francisco, CA 94104 Country of Origin USA Currency in US Dollar • 1 crate @ 674 (lbs) Dims: 84"x42'x34" • 1 crate @ 717 (lbs) Dims: 84"x42"x34"



Sales Total: 75,899.00 Paid.: Tax Total: 0.00 75,899.00 Total (USD):



Packing Slip

Order No.: Order Date: Est. Shipping Date: Customer ID: Currency: For:

AR035119 11/7/2024 12/30/2024 C000001421 USD Saji Abraham

FOR:	SHIP TO:	BILL TO:
Sapir Trading & Contracting Co. W.L.L	Sapir Trading & Contracting Co. W.L.L	Sapir Trading & Contracting Co. W.L.L PO
PO Box 32042	Office No: 12, First Floor,	Office No: 12, First Floor,
Doha	Old Karwa Building,	Old Karwa Building,
Qatar	Al Mansoura, Doha Qatar	Al Mansoura, Doha Qatar

Project Reference Number:

	FOMER P.O. NO.	TERMS	CONTACT
STC/0	GTD/04065/24	Wire Transfer	sales@sapirgtd.com
SHIPI	PING TERMS	SHIP VIA	
DAP		Air	
NO.	ITEM	DESCRIPTION	QTY. UOM
1	21-1.5-B	Male Bearing/bushing (21-6L) HS Code: 84	32.50.0000 10.00 EACH
2	3-6LP-B	Coarse Screen for 6-LP Filter Housings, 8.5 13.20" Length - SST316L (3-6L) HS code: 8	
3	2-ABW-12.75-A	Cover for ABW6-LP (2-6L) HS Code: 4016.	3.000 2.00 EACH
4	24-HW-01	Cover Bolt (24-6L) HS Code: 4016.93.0000	10.00 EACH
5	20-HW-01	Cover Nut + Washer for ABW/LPF Series.(2 4016.93.0000	0-6L) HS Code: 6.00 EACH
6	10-12.75-J	Cover Seal - Please make sure to install th the U Channel seal facing the filter (10-6L) 4016.93.0000	
7	34-MUR	Differential Pressure Gauge with Bracket & Connections, Murcal kit. (Complete) HS Co	
8	6-8.35-KIT	Collector Fins (Clamp Type) (6-6L) HS Cod 8421990140	e: 6.00 EACH
9	5-5.0-B	Dirt Collector Assembly includes 5 nozzle: Code: 8421.99.0140	Pin (5-6L) HS 6.00 EACH
10	4S-5.0-B	Sintered Screen assembly for 5.0 SQFT for (4S-6L) HS Code: 8421.21.0000	ABW6-LP200 micron 6.00 EACH
11	8-1.5-EBV-A1	Valve - 1.5" Electic Ball Valve, 24VAC (8-1. 8501.40.6040	EBV) HS Code: 4.00 EACH
12	8-2-EBV-A1	Valve - 2" Electric Ball Valve, 24VAC in SS HS Code: 8501.40.6040	316L (8-2-EBV) 2.00 EACH





Packing Slip

Order No.: Order Date: Est. Shipping Date: Customer ID: Currency: For: AR035119 11/7/2024 12/30/24 C000001421 USD Saji Abraham

FOR:	SHIP TO:	BILL TO:
Sapir Trading	Sapir Trading & Contracting Co. W.L.L.	Sapir Trading & Contracting Co. W.L.L.
PO Box 32042	Office No: 12, First Floor,	Office No: 12, First Floor,
Doha	Old Karwa Building,	Old Karwa Building,
Qatar	Al Mansoura, Doha Qatar	Al Mansoura, Doha Qatar

Project Reference Number:

CUST	OMER P.O. NO.	TERMS	CONTACT		
STC/C	GTD/04065/24	Due Upon Receipt	sales@sapirgtd.com		
SHIPF	PING TERMS	SHIP VIA			
DAP		Best Way			
NO.	ITEM	DESCRIPTION	QTY. UOM		
13	7-5.0-B	Hydraulic Motor (7-6L) HS Code: 8412.21.0075	6.00 EACH		
14	22-1.5-01-B	Hydraulic Piston (1.5") (22-6L) HS Code: 8412.21	0075 6.00 EACH		
15	12-ABW-01-E	Lower Bearing (12-6L) HS Code: 8482.50.0000	10.00 EACH		
16	18-0.25-GRAY	Mini Filter - Plastic Grey, 100u, 6mm (18-1/8) HS (8421.21.0000	Code: 6.00 EACH		
17	29-ABW-J	Piston Repair Kit, BUNA - for 1.5" piston for all AB ABW) HS Code: 8421.99.0140	N series (29- 6.00 EACH		
18	GB6-220V-10	Electronic Backwash Controller in weather proof N Rinsing by differential pressure, timer, or manual. counter and emergency alarm. 220VAC 10 amp, c 24VAC,12"x9"x7", 6# (GB6) HS Code: 8535.10.90	Backwash utput		
19	25-ABW-SET	Complete set of fittings and tubing for ABW FILTE kit: HS Code: 4016.93.0000 1/4" tube to 1/4" NPT (white with blue valve) x 3 1/4" tube to 1/8" NPT (white piston fitting) x 1 1/4" NPT (blue plug) x 2 1/4" poly tubing (~15 feet)	RS Fittings 10.00 EACH		
20	1-ABW6-LP-B	ABW6-LP Housing ONLY, SST316L (1-6L) HS Co 8421.99.0140	2.00 EACH de:		
21	11-ABW-01-E	Upper Bearing (11-6L) HS Code: 8482.50.0000	10.00 EACH		
22	16-8.35-J	Upper/Lower Oring (16-6L) HS Code: 4016.93.000	0 25.00 EACH		





Packing Slip

Order No.: AR035119 Order Date: Est. Shipping Date: **Customer ID:** Currency: For:

11/7/2024 12/30/24 C000001421 USD Saji Abraham

FOR:	SHIP TO:	BILL TO:
Sapir Trading & Contracting Co. W.L.L.	Sapir Trading & Contracting Co. W.L.L	Sapir Trading & Contracting Co. W.L.L.
PO Box 32042	Office No: 12,	PO Box 32042 Doha
Doha	First Floor, Old Karwa Building,	Qatar
Qatar	Al Mansoura, Doha	Attn: Saji Abraham

Project Reference Number:

Spare Parts for ABW6-LP (ref 80256)

CUST	OMER P.O. NO.	TERMS	CONTACT
STC/G	TD/04065/24	Due Upon Receipt	sales@sapirgtd.com
SHIPP	ING TERMS	SHIP VIA	
DAP		Air	
NO.	ITEM	DESCRIPTION	QTY. UOM
23	SE02	Air Freight Charges in US\$	1.00 CRATE

Country of Origin USA Currency in US Dollar • 1 crate @ 674 (lbs) Dims: 84"x42'x34" • 1 crate @ 717 (lbs) Dims: 84"x42"x34"

2024



Total Shipped: 182 PCS

: